
משפחות 1מבדק ידע  שם התלמיד: ____________  
 פישוט ביטויים אלגבריים 

 

 . לדוגמההפרידו את הגורמים למשפחות, וקבצו את האיברים. אם אי אפשר רשמו "פשוט"

 
 

=  2𝑦 +7 +3𝑦 5 
= 2𝑦 +3𝑦 +7 5 

משפחת  Yמשפחת  
 מספרים

 +5𝑦 12 

 

=  +𝑥 +7 3𝑥 
= +7 +𝑥 3𝑥 

משפחת  
 מספרים

 Xמשפחת 

 +7 4𝑥 

  

  
 

 

 3𝑥 7+ = פשוט

 

2 + 3𝑥 =  4𝑥 + 𝑥 +  5 = 1.  

10 + 45𝑎 − 5 = 3𝑧 + 2 + 5 = 2.  

7 − 5 + 6 = 2𝑑 + 3𝑑 + 2 + 3 = 3.  

1 +  23𝑥 =  
2

1

2
𝑥 + 9 +  1

1

2
𝑥 = 

4.  

44 − 31𝑏 = 2𝑥 + 𝑥 + 3𝑥 = 5.  

11z − 3 = 14𝑧 − 3 ∙ 𝑧 =  6.  

3 + (5 + 2)  = 
𝑥 + 2 +

1

3
𝑥 = 

7.  

4𝑏 + (7𝑏 + 2𝑏) = 5

6
𝑎 −

1

6
𝑎 = 

8.  

4𝑝 − 3𝑝 + 5 + 𝑝 = 8𝑦 + 3 − 2𝑦 + 3𝑦 = 9.  

2𝑎 + 3𝑏 + 𝑎 + 5𝑏 = 𝑦 + 2 + 3𝑦 + 1 + 2𝑦 = 10.  

 

 בהצלחה!


